
     -       2     -      -      1      2      2     -       2       3       12 

 

          2      2     1      2     2      2      2     2      2           17 

  

Doug Hole    16    6      5     6      6      6      5     3     5      5           47 

 

Phil Hole      11    5      6     4      4      5      5     4      4     5           42 

 

          2      2     2      1     2      2      2     1      2          16 

 

          2      -     2      2      1      -      -       2     -        3       12 

1. Compare the two golfers’ handicaps.  Circle the higher handicap - Doug will get 5 handicap strokes in this match. 

2. Circle the HANDICAP number of the 5 hardest holes.  Doug will get 1 stroke handicap on each of these 5 holes. 

3. Record the total strokes and putts for each hole in the proper row for each golfer.   

4. To calculate hole points, compare the golfers’ scores for each hole,  and subtract 1 stroke for the higher handicap golfer on 
the designated holes.  The lower net score gets 2 hole points.  If the net scores are tied, both golfers get 1 hole point each. 

5. To calculate match points, compare the golfers total scores, and subtract the difference between the golfers’ handicaps 
from the higher handicap golfer’s score.  The lower net score gets 6 match points.  If the net scores are tied, both golfers 
get 3 match points each.  The MATCH points box should only contain 6, 3, or nothing. 

6. Total points equals the sum of the hole points and the match points. 

Scorecard Example 

Step 2 

Step 4 

Step 4 


